Panel #EX54 Length: 13'4" Height: 16' 1-7/16" First Stud Face @1' 3-1/4" (1' 4" o.c.)

13 4"
4749727 4 8 11-172"

o | 2 6-1/4/
9
o R
Y+ RO V7R E ey o 1 o 4 7/16 OSB (8)
14 3'0-1/2 11-172 4'0 e 4'0
2-W1* _ 2x8L  2X6 L
=
® ® Ir o 0o
o = TN 8N
= « oF & o "
- ~ o2 = N
Top Plates: 2x6 SPF #2 15'1-3/16" 53.1\ Rk \ -53.1 Bottom Plates: 2x6 SPF #2 13'4"

2x6 SPF #2 7'5-1/2" -53.1/ Rk /53.1

Studs: 2x6 SPF #2 9'10-15/16" 53.1\ Rk | 2x6 SPF #2 9'0-5/8" -53.1/ Rk |
2x6 SPF #2 10'9-15/16" -53.1/ Rk | 2x6 SPF #2 11'7-1/4" 53.1\ Rk |

Components & Subcomponents Start End
2-W1* (7' 0", 3' 11-3/4") 1'7-1/8" 7' 2-7/8"
(1) 2x6 SPF #2 10' 4-3/4" 10' 6-1/4"
2x8 L (2x8 Dn) 11' 3-7/8" 12' 0-5/8"
2X6 L (2x6 Dn) 12' 9" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX55 Length: 6' 1"

Height: 10' 0-15/16"

First Stud Face @8-1/4" (1'4" o.c.)

6 1"

A

J
3'0-11/16" 4 3'0-5/16" 4[

/

C

RY

K

£o)
o
)
S
o

A
B
- NI N| N N|
F 30-11/16" i T gger | /16 0SB(8)
305/16"

Top Plates: 2x6 SPF #2 5'2-1/2"
2x6 SPF #2 3'0-11/16"

-53.1/ Rk /53.1

Bottom Plates: 2x6 SPF #2 6' 1"

Studs: (3) 2x6 SPF #2 5'10-1/2" 2x6 SPF #2 9'8-15/16" 53.1\ Rk |
Components & Subcomponents Start End

2x8 L (2x8 Dn) 2'9-3/8" 3'6-1/8"
3S 4' 6-3/4" 4'11-1/4"
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX56 Length: 3' 3" Height: 9' 1-1/8" First Stud Face @6-1/4" (1' 4" o.c.) Diagonal: 9' 6-1/2"

J 3'3 N
[ l
i B
e
% [ A
. * T | 7116 03B (8)
2X6 L
Top Plates: 2x6 SPF #2 3'3" Bottom Plates: 2x6 SPF #2 3'3"
Studs: (3) 2x6 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 2'8" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX57 Length: 14' 8" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 2-5/16"

. 14'8" 4
[F M
0 = Bl | T 11
©)2x12
70"
4'10-3/4"
X
4' 5-3/4"

8' 11-5/8"
8'8-5/8

>
>
>

, QM

'1041/8"

.
I
I
e

|
5 > g T~ 70" T~ 70" 70" N 7/16 OSB (8)

3S 2-W1 2X6 L

QKRN RRAXAXH XY
120000 %00 %
o%esorstotel

NI,

13010437 =

Top Plates: 2x6 SPF #2 14'8" Bottom Plates: 2x6 SPF #2 14'8"
Studs: (7) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

3S 2'2" 2'6-1/2"
2-W1 (7' 0") 8' 3-1/8" 13'10-7/8"
2X6 L (2x6 Dn) 14' 1" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX58 Length: 3'9" Height: 8' 11-5/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 9' 8-5/8"

4 3 g |

8'11-5/8
8' 8-5/8"

¥ 5 | 716088 ®

0 S00000 800020 V1202030 5002020 302020 Vi 020202020 02020200¢
000700 00 %6 00 00 b )% % % % %% % %% 0 1l 0 0600 00 20 Ce e 20 Salel
“p,:,:,:,o,o,o,q) Sotesesoteretatotorelflstotesetototesetotel

[SoSetetetetetetese
{80202020202020202021

)

Top Plates: 2x6 SPF #2 3'9" Bottom Plates: 2x6 SPF #2 3'9"
Studs: (4) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

XX
!m0‘02020202‘!020202020202020202024

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX59 Length: 5'2" Height: 9' 1-1/8" First Stud Face @1' 1-1/4" (1' 4" o.c.) Diagonal: 10" 4-3/16"

J 5'2 N
[ l
71 lip c
o® B A
T Tt 35T {716 088 @
il
*
Top Plates: 2x6 SPF #2 5'2" Bottom Plates: 2x6 SPF #2 5'2"
Studs: (4) 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
3S-L (2x4 Up) 4'6" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX60 Length: 10' 5-1/2"

8'11-5/8
8'8-5/8"

Height: 9' 1-1/8"

First Stud Face @1' 0-3/4" (1' 4" o.c.) Diagonal: 13' 9-5/16"

J 10'5-1/2 4
r b
‘ 1l
D C ; 0
8-1/8 \\H\ q >\
L
(3) 2x12
8-1/8"
N 4 4
: - - 7116 0SB
r 711 70 T 70 t 7116 OSE (8)
2W2 2X6L
KX A R K GG AN SRS KGR0 G RS K K S GEEK KN K CSK KXY
R B R R R
sk
[ [
© co o
0 © a
0 @ T
o — o
c b =
© -
© [s2]

Top Plates: 2x6 SPF #2 10'5-1/2" Bottom Plates: 2x6 SPF #2 10' 5-1/2"
Studs: (6) 2x6 SPF #2 8'8-5/8"

Components & Subcomponents Start End

2-W2 (7' 0") 6' 0-5/8" 8' 11-3/8"

2X6 L (2x6 Dn) 9'10-1/2" @ End

Exterior Sheathing: 7/16 OSB (8)

Blocking & Letin

Start: Fly 5-1/2"

End: Flush

2x6 SPF #2 Inline At: 8' 0"



Panel #EX61 Length: 5'2" Height: 9' 1-1/8" First Stud Face @1' 1-1/4" (1' 4" o.c.) Diagonal: 10" 4-3/16"

J 5'2" N
[ l
Tl b €
W7
©| B A
- % Py 1 7116 0SB (8)
2X6 L
5
Top Plates: 2x6 SPF #2 5'2" Bottom Plates: 2x6 SPF #2 5'2"
Studs: (4) 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) 4'7" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX62 Length: 9'2" Height: 9' 1-1/8" First Stud Face @1' 1-1/4" (1' 4" o0.c.) Diagonal: 12' 9-7/8"

N 9'2 N
F b
F D E
D 1%
)
o
& [ ¢ A B
7+ 70 + 3578 {7116 058 (@)

M
YN
Top Plates: 2x6 SPF #2 9'2" Bottom Plates: 2x6 SPF #2 9'2"
Studs: (7) 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
3S 7' 2-1/4" 7' 6-3/4"
(1) 2x6 SPF #2 8' 6-3/8" 8' 7-7/8"
4S 8'8" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX63 Length: 14' 8"

Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 2-5/16"

1 14'8" J
[ M
5oL | To o
(3) 241
70"
o |z 4'10-34"
5|2 X
LS 4'5-3/4"
% | B A A A
2/6-1/4"
i 8-5/8"
) ¥ 28 ¥ o ¥ 70 o } 7116088 8)
- 3S _ 2-W1* 2X6 L
sk llE N
| | |
¥ & & =
G & < 3
Top Plates: 2x6 SPF #2 14'8" Bottom Plates: 2x6 SPF #2 14'8"
Studs: (7) 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
3S 2'11-3/4" 3'4-1/4"
2-W1** (7' 0") 3' 6-5/8" 9' 2-3/8"
2X6 L (2x6 Dn) 14" 1" @ End
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX64 Length: 7' 10-1/2" Height: 9' 1-1/8" First Stud Face @1' 1-3/4" (1' 4" o.c.) Diagonal: 11' 11-1/4"

N 7'10-1/2" J
I )
T F E Ll D
-5/8" |
/
) 2x12
70
21-3/4"
X
% 3534
el
c
% |® Cc 5 A
3'6-1/4"
-?/8'
g+ g + o 4 7116 0SB (8)

2-W2 2X6 L
KRS
sy

R [RK
RSN
R\

PR
Sosstosstosateset
[o3setatstoretors
ogesass s eeose!

Top Plates: 2x6 SPF #2 7' 10-1/2" Bottom Plates: 2x6 SPF #2 7' 10-1/2"
Studs: (4) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2-W2 (7' 0") 3'1-1/8" 5'11-7/8"
2X6 L (2x6 Dn) 6' 0-1/2" 6'7-1/2"

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX65 Length: 2' 6-1/2"

Top Plates: 2x6 SPF #2 2'6-1/2"
Studs: 2x6 SPF #2 8'8-5/8"

Height: 9' 1-1/8"

First Stud Face @1' 1-3/4" (1' 4" o.c.)

2'6-1/2"

B

8'11-5/8
8'8-5/8"

f——o35—} 7116088 (8)

[ RRRRA PRRIARRR
V-w.‘.mw.v.“

25
ool lsssessd
esssllsssossss
R RS

111-1/2"

Bottom Plates: 2x6 SPF #2 2'6-1/2"

Diagonal: 9' 3-7/8"

Components & Subcomponents Start End
2X6 L (2x6 Up) @ Start 7"
2X6 L (2x6 Dn) 1" 11-1/2" @ End

Exterior Sheathing: 7/16 OSB (8)

Blocking & Letin

Start: Hold 6-1/8"

End: Flush

2x6 SPF #2 Inline At: 8' 0"



Panel #EX66 Length: 13' 7-1/2" Height: 8' 1-1/8" First Stud Face @2-3/4" (1' 4" o.c.) Diagonal: 15' 9-7/16"

J 13'7-1/2" J
b P
3|2
<% B A A A
LN
AN N N N X
r 7T B 7o B 7o B 7o M 7116 08B

il | | | I I I I ] i

Top Plates: 2x6 SPF #2 13'7-1/2" Bottom Plates: 2x6 SPF #2 13'7-1/2"
Studs: (12) 2x6 SPF #2 7' 8-5/8"
Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Flush




Panel #EX67 Length: 13' 7" Height: 17' 1-13/16" First Stud Face @1' 6-1/4" (1' 4" o.c.)

137" )
6" 9-172" 1

6" 9-172"

o5 -

3) 2x12

L3 9-1)%"1

1'2-1/2" A
X

2:8-1/2"

3y

livd

o

73
M,

77
%

{

(3) 2x12

X

X
4'11-3/A A

710-5/8
O
>

2' 0-1/4"

1116-5/8"

Nl
-

70 4 7/16 OSB (8)

7

2-W3

Top Plates: 2x6 SPF #2 11'5-13/16" 53.1\ Rk \ -53.1 Bottom Plates: 2x6 SPF #2 13'7"
2x6 SPF #2 11'5-13/16" -53.1/ Rk /53.1

Studs: 2x6 SPF #2 9'4-15/16" -53.1/ Rk | 2x6 SPF #2 9'8-15/16" 53.1\ Rk |

Components & Subcomponents Start End

2X6 L (2x6 Dn) @ Start 7"

2-W3 (7' 0", 4' 8-3/4") 2'7-5/8" 10' 11-3/8"
2X6 L (2x6 Dn) 13'0" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Flush  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX68 Length: 2' 0" Height: 8' 5-1/8" First Stud Face @7-1/4" (1' 4" o.c.) Diagonal: 8' 6-1/2"

20"

7 B
D

T Heoosd beasat—1

8'3-5/8
8'0-5/8"

A
. f——F—lmeosB@
2X6 L
Top Plates: 2x6 SPF #2 2'Q" Bottom Plates: 2x6 SPF #2 2' Q"
Studs: (2) 2x6 SPF #2 8' 0-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) 15" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX69 Length: 7' 1-1/2" Height: 8' 5-1/8" First Stud Face @1' 8-3/4" (1' 4" o.c.) Diagonal: 10" 11-5/16"

J 7'1-1/2" J

| — B I\J s ¥
% |20
0 |20
S |5
™ |o B A
%o |0
‘/Lﬁ;
1 4 3 716 0SB (8)
\ 31472 r 35-7/8" P
28 L 2X6 L
. Jaxe Ll
8 N
3 = =
) w S
& ~

Top Plates: 2x6 SPF #2 7'1-1/2" Bottom Plates: 2x6 SPF #2 7' 1-1/2"
Studs: (4) 2x6 SPF #2 8'0-5/8"

Components & Subcomponents Start End
2x8 L (2x8 Dn) @ Start 8-3/4"
2X6 L (2x6 Dn) 6' 5-1/4" 7' 0-1/4"
2X6 L (2x6 Up) 6'6-1/2" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Hold 6-1/8"
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX70 Length: 12' 3-1/2" Height: 4' 2-1/8" First Stud Face @2-3/4" (1' 4" o.c.) Diagonal: 12' 11-5/16"

N 12'3-1/2"
r
7LjL
XX
LW B A A A
[=2ule]
S
LﬁL
-7
9 40" 70 0"

e e

Top Plates: 2x6 SPF #2 12' 3-1/2" Bottom Plates: 2x6 SPF #2 12' 3-1/2"
Studs: (11) 2x6 SPF #2 3'9-5/8"
Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Flush

7



Panel #EX71 Length: 8' 3-1/2" Height: 8' 5-1/8" First Stud Face @2-3/4" (1' 4" o.c.) Diagonal: 11' 8-13/16"

N 8'3-1/2" J
I N
T | Dar=—=¢ SR
(3) 2442
70
4'10-3/4"
X
Y é\o 4' 5-3/4
w1
Slo| B A A
0 |0

11-178"

gk Pk L Pk { 7116 038 @®)

2-W5 2X6 L

B

11-5/8
6'8-7/8"
7'8-1/2

Top Plates: 2x6 SPF #2 1'8-1/8" Bottom Plates: 2x6 SPF #2 8'3-1/2"
2x6 SPF #2 1'2-5/8"
Studs: (3) 2x6 SPF #2 8'0-5/8"

Components & Subcomponents Start End
2-W5 (7' 0") 11-5/8" 6' 8-7/8"
2X6 L (2x6 Dn) 7' 8-1/2" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX72 Length: 6' 2-1/2" Height: 9' 1-1/8" First Stud Face @9-3/4" (1' 4" o.c.) Diagonal: 10' 10-7/8"

J 6'2-1/2" J

8'11-5/8
8' 8-5/8"

N q q
—vT r o { 7116 0SB (8)

T T
¥ X
R R
NN
N ™

Top Plates: 2x6 SPF #2 6'2-1/2" Bottom Plates: 2x6 SPF #2 6'2-1/2"
Studs: (6) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) 2'7-3/4" 3'2-3/4"
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX73 Length: 6' 6" Height: 8' 5-1/8" First Stud Face @1' 1-1/4" (1' 4" o0.c.) Diagonal: 10' 6-1/2"

q 66" |
) b
- . D c =
& |
e
e} B A
o |co
L
L
N J N
F 2711172 ~ 3 5-7/8" } 7116 OSB (8)
38 2X6L

5'2-1/4
5'6-3/4"
5'11

Top Plates: 2x6 SPF #2 6'6" Bottom Plates: 2x6 SPF #2 6'6"
Studs: (4) 2x6 SPF #2 8' 0-5/8"

Components & Subcomponents Start End

3S 5'2-1/4" 5' 6-3/4"

2X6 L (2x6 Up) 5 11" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX74 Length: 10' 1" Height: 16' 1-7/16"

First Stud Face @2' 0-1/4" (1'4" o.c.)

9'2-1/4"

@) z§x12

253"
a5z
A

11/3-1/8

y 4 7116 OSB (8)

¥ R

X8 L

[
o
= =
Tow
0 N

Top Plates: 2x6 SPF #2 8'6-13/16" 53.1\ Rk \-53.1
-53.1/ Rk /53.1

2x6 SPF #2 8'6-13/16"

il N
T2 A2t 10-172" 4'0"

2-W6
we

5-1/8"

oo
o o o
LI
I
~N < -

e

3

Bottom Plates: 2x6 SPF #2 10' 1"

Studs: 2x6 SPF #2 9'0-1/4" -53.1/ Rk | 2x6 SPF #2 9'0-1/4" 53.1\ Rk |
2x6 SPF #2 10'8-9/16" -53.1/ Rk | 2x6 SPF #2 11'8-5/8" 53.1\ Rk |

Components & Subcomponents Start End

2x8 L (2x8 Dn) 5-7/8" 1'2-5/8"

2-W6 (7' 0") 3' 5-1/8" 6'7-7/8"

2x8 L (2x8 Dn) 7' 4-3/8" 8' 1-1/8"

Exterior Sheathing: 7/16 OSB (8)  Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX75 Length: 10' 5" Height: 9' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 13' 8-15/16"

. 10'5" |
r b
T 1
/
3) 2x12
T
% |5
e
— |0
& |© B A
3'0-1/4"
b/8"
¥ & x o x o A 7116 08B (8)

2-W4

Top Plates: 2x6 SPF #2 10'5" Bottom Plates: 2x6 SPF #2 10'5"
Studs: (5) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2-W4 (7' 0") 2'8-5/8" 7' 8-3/8"
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX76 Length: 2' 0" Height: 8' 1-1/8" Diagonal: 8' 2-9/16"

2'0"
2 A
- Y img——} 7116 0SB (8
i
|
i
Top Plates: 2x6 SPF #2 2' 0" Bottom Plates: 2x6 SPF #2 2' 0"
Studs: 2x6 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
3S 4-1/4" 8-3/4"
2X6 L (2x6 Up) 1'5" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"



Panel #EX77 Length: 13' 0" Height: 16' 9-1/8" First Stud Face @11-1/4" (1' 4" o.c.)

h 66 . 56 +
T T T
)
16 % 2xie 16
9-1/2"‘
1'2-1A
X
2'8-1/2"
3/ B
A
é Iz .
SE Vallie .
T (3) 2x12
X
- 7' 3:3/4"
@ X
'e) ~ ' 2
SC A 413K A
P~
2'0-1/4"
1i311/8
AT g + g + D 4 716 OSB (8)
10 4'0 4 4'0
4T
2-W3

Top Plates: 2x6 SPF #2 11'0" 53.1\ Rk \ -53.1 Bottom Plates: 2x6 SPF #2 13'0"
2x6 SPF #2 11'0" -53.1/ Rk /531

Studs: 2x6 SPF #2 9'4-15/16" -53.1/ Rk | 2x6 SPF #2 8'11-5/8" 53.1\ Rk |

Components & Subcomponents Start End

4S @ Start 6"

2-W3 (7' 0", 4' 8-3/4") 2'4-1/8" 10' 7-7/8"
2X6 L (2x6 Dn) 12' 5" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX78 Length: 1' 0" Height: 8' 1-1/8" Diagonal: 8' 0-3/8"

1'0"
? 2 A
- g} 76 0sB ®
2X6 L
1
Top Plates: 2x6 SPF #2 1' 0" Bottom Plates: 2x6 SPF #2 1' 0"
Studs: 2x6 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) @ Start 7"

Exterior Sheathing: 7/16 OSB (8)  Start: Hold 6-1/8"  End: Fly 5-1/2"



Panel #EX79 Length: 7' 5-1/2" Height: 9' 1-1/8" First Stud Face @8-3/4" (1' 4" o.c.) Diagonal: 11' 8"

J 7'5-1/2" J

8' 11-5/8"
8'8-5/8

q
k T s o { 7116 0SB (8)

Top Plates: 2x6 SPF #2 7'5-1/2" Bottom Plates: 2x6 SPF #2 7' 5-1/2"
Studs: (6) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Up) @ Start 7"
2X6 L (2x6 Dn) 6' 5-3/4" 7' 0-3/4"

Exterior Sheathing: 7/16 OSB (8)  Start: Hold 5-1/2"  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX80 Length: 2' 0" Height: 8' 1-1/8" First Stud Face @1' 0-3/4" (1' 4" o0.c.) Diagonal: 8' 2-9/16"

2'Q"
N Vg1 716088 ®)
2X6 L 3S
M%‘ M' ! )
N o3y
Top Plates: 2x6 SPF #2 2'Q" Bottom Plates: 2x6 SPF #2 2' Q"
Studs: (2) 2x6 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) @ Start 7"
38 1' 3-1/4" 1'7-3/4"

Exterior Sheathing: 7/16 OSB (8)  Start: Hold 6-1/8"  End: Fly 5-1/2"



Diagonal: 10' 0-7/8"

Panel #81 Length: 4'7" Height: 9' 1-1/8" First Stud Face @6-1/4" (1' 4" o.c.)

q 47" N
N

8'11-5/8
8'8-5/8"

2X6 L
W W =X i i

"
=

1'2-3/4"—
1'9-3/4"—

Top Plates: 2x4 SPF #2 4'7" Bottom Plates: 2x4 SPF #2 4'7"

Studs: (5) 2x4 SPF #2 8' 8-5/8"

Start End

Components & Subcomponents
2X6 L (2x6 Up)

1'2-3/4" 1'9-3/4"



Panel #82 Length: 5'2" Height: 9' 1-1/8" First Stud Face @1' 1-1/4" (1' 4" o0.c.) Diagonal: 10' 4-3/16"

fj1-3/4"

6'10-1/2"

8'11-5/8
8'8-5/8"

32"
X

6'10-1/2"

2-1D2

K N W M\
Top Plates: 2x4 SPF #2 5'2" Bottom Plates: 2x4 SPF #2 5'2"
Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2-1D2 (6' 9") 1'5-1/2" 5'1-1/2"



Panel #83 Length: 15' 8-1/2"

8' 11-5/8"
8'8-5/8

Height: 9' 1-1/8"

First Stud Face @3' 7-3/4" (1' 4" o.c.) Diagonal:

15'8-1/2"

18'1-1/16"

10-1/4"

6'10-1/2"

g

X
6'10-1/2"

6' 10-1/2"

30
X
6'10-1/2"

2-ID1

2X6 L

2X6 L

2-ID3

i

1-1/2“4%

N

3 3-‘I/2"4§
3'9-3/4"—
4'4-3/4"—

Bottom Plates: 2x4 SPF #2 15' 8-1/2"

11'6-3/4"—

12" 1-3/4"—

15' 7-3/4" —

Top Plates: 2x4 SPF #2 15'8-1/2"
Studs: (7) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2-ID1 (6'9") 1-1/2" 3'3-1/2"
2X6 L (2x6 Dn) 3'9-3/4" 4' 4-3/4"
2X6 L (2x6 Dn) 11' 6-3/4" 12" 1-3/4"
12' 1-3/4" 15' 7-3/4"

2-ID3 (6' 9")



Panel #84 Length: 11' 9-1/2" Height: 9' 1-1/8" First Stud Face @1' 0-3/4" (1' 4" o0.c.) Diagonal: 14' 9-3/4"

N 11'9-1/2" JF

il
N

1'6-3/14"

6'10-1/2" 6'10-1/2"

8'11-5/8
8'8-5/8"

g g

X X
6'10-1/2" 6'10-1/2"
7L7L

2-ID1 2X6 L 2-ID1
—— T m
K% & & ) §o
~ ™ on % =

o) ©

Top Plates: 2x4 SPF #2 11'9-1/2" Bottom Plates: 2x4 SPF #2 11'9-1/2"
Studs: (5) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2-ID1 (6'9") 2'2" 5'4"
2X6 L (2x6 Dn) 5'5-1/2" 6' 0-1/2"

2-1D1 (6'9") 8' 6" 11' 8"



Panel #85 Length: 13' 6-1/2" Height: 9' 1-1/8"

First Stud Face @1-3/4" (1' 4" o.c.) Diagonal: 16' 2-15/16"

4 13'6-1/2"
) >
513741
6' 10-1/2"
|5
S |5
= |0
%0 |
30"
X
6'10-1/2"
2-ID3 2x8 L 2X6 L 2X4 L
. el B :
& > o b T % &
N ro) QT b -
~— o [Te] o —
) - = - ©
co — — —

Top Plates: 2x4 SPF #2 13'6-1/2" Bottom Plates: 2x4 SPF #2 13'6-1/2"

Studs: (6) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2-ID3 (6' 9") 2'3" 59"

2x8 L (2x8 Dn) 8' 1-3/8" 8' 10-1/8"

2X6 L (2x6 Up) 10' 5-1/4" 11' 0-1/4"
@ End

2X4 L (2x4 Dn) 13" 1-1/2"



Panel #86 Length: 6' 0" Height: 9' 1-1/8" First Stud Face @7-1/4" (1' 4" o.c.) Diagonal: 10' 9-1/2"

8' 11-5/8"
8'8-5/8

WX i i i I

Top Plates: 2x4 SPF #2 6'Q" Bottom Plates: 2x4 SPF #2 6' Q"
Studs: (6) 2x4 SPF #2 8' 8-5/8"




Panel #87 Length: 2' 1" Height: 9' 1-1/8" First Stud Face @8-1/4" (1' 4" o0.c.) Diagonal: 9' 2-1/2"

2'1"

8'11-5/8
8' 8-5/8"

2X4 L

|
©
-

Top Plates: 2x4 SPF #2 2'1" Bottom Plates: 2x4 SPF #2 2'1"
Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) 18" @ End



Panel #88 Length: 7' 3" Height: 9' 1-1/8" First Stud Face @6-1/4" (1' 4" o.c.) Diagonal: 11' 6-3/8"

i 73" |
F b
3S 2x8 L 2X4 L
.
Sy © S
i3 32 e
— B < w
Top Plates: 2x4 SPF #2 7' 3" Bottom Plates: 2x4 SPF #2 7' 3"
Studs: (4) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
3S 1' 5-3/4" 1'10-1/4"
2x8 L (2x8 Dn) 4'4-7/8" 5' 1-5/8"
6' 10" @ End

2X4 L (2x4 Up)



Panel #89 Length: 15' 0" Height: 9' 1-1/8" First Stud Face @3-1/4" (1' 4" o.c.) Diagonal: 17' 5-3/4"

N 15'0"
b N
0-1/4"
6' 10-1/2"
% %
e
— |©
30 |
30"
X
6'10-1/2"
MN W 2-ID3 VNM M 2X6 L M M 2x8 L M 2X6LM 2x8 L
| | | | | | o |
> & SR B % ¥ o¥ ¥
= D O N S
© S o - © ™
© ~ - - N <
— — N — —

2x6 SPF #2 15'0Q" Bottom Plates: 2x6 SPF #2 15'0"

Top Plates:

Studs: (8) 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2-ID3 (6' 9") 9" 4'3"
2X6 L (2x6 Up) 6' 6-1/4" 7' 1-1/4"
2x8 L (2x8 Dn) 11' 0-3/8" 11' 9-1/8"
2X6 L (2x6 Up) 12" 11-3/4" 13' 6-3/4"

14' 3-1/4" @ End

2x8 L (2x8 Dn

~



Panel #90 Length: 4'5" Height: 9' 1-1/8" First Stud Face @4-1/4" (1' 4" o.c.)

i 45" J
o 13047 3314 N
7 @
— ’\\,b;\‘.)\
4S8 2X4 L
T
Sl o
29 ¥
Top Plates: 2x6 SPF #2 3'3-1/4" Bottom Plates: 2x6 SPF #2 4'5"
2x6 SPF #2 1'4-13/16" -30.3/ Rk /30.3
Studs: 2x6 SPF #2 8'1" 30.3\ Rk | 2x6 SPF #2 8'8-1/8" 30.3\ Rk |
(2) 2x6 SPF #2 8'8-5/8" 2x6 SPF #2 8'3-1/2" 30.3\ Rk |
Components & Subcomponents Start End
4S 1'1-3/4" 1'7-3/4"

2X4 L (2x4 Up) 4'0" @ End



Panel #91 Length: 12' 3-1/2" Height: 9' 1-1/8" First Stud Face @2-3/4" (1' 4" o.c.) Diagonal: 15' 2-9/16"

{ 12'3-1/2" J

8'11-5/8
8' 8-5/8"

2X6 L 48

s % Lk
3 3 22
Top Plates: 2x6 SPF #2 12' 3-1/2" Bottom Plates: 2x6 SPF #2 12' 3-1/2"
Studs: (11) 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 1'9-3/4" 2'4-3/4"

4S8 10" 1" 10' 7"



Panel #92 Length: 12' 3-1/2" Height: 6' 1-1/8" First Stud Face @2-3/4" (1' 4" o.c.) Diagonal: 13' 8"

J 12' 3-1/2"

5'11-5/8
5'8-5/8"

BT T

Top Plates: 2x6 SPF #2 12' 3-1/2" Bottom Plates: 2x6 SPF #2 12' 3-1/2"
Studs: (11) 2x6 SPF #2 5'8-5/8"



Panel #93 Length: 12' 3-1/2" Height: 6' 1-1/8" First Stud Face @2-3/4" (1' 4" o.c.) Diagonal: 13' 8"

J 12' 3-1/2"

5'11-5/8
5'8-5/8"

ere el e el e el

Top Plates: 2x6 SPF #2 12' 3-1/2" Bottom Plates: 2x6 SPF #2 12' 3-1/2"
Studs: (11) 2x6 SPF #2 5'8-5/8"



Panel #94 Length: 5' 5-1/2" Height: 9' 1-1/8" First Stud Face @1' 4-3/4" (1' 4" o.c.) Diagonal: 10' 6"

N 5'5-1/2" J

8'11-5/8
8' 8-5/8"

| L

Top Plates: 2x6 SPF #2 5'5-1/2" Bottom Plates: 2x6 SPF #2 5'5-1/2"
Studs: (5) 2x6 SPF #2 8' 8-5/8"




Panel #95 Length: 11' 9-1/2" Height: 9' 1-1/8" First Stud Face @3' 8-3/4" (1' 4" 0.c.) Diagonal: 14' 9-3/4"

11'9-1/2" JF

ﬁL L
1-1/4"
6'10-1/2"
D %
LiTe)
pnir)
% |
30"
X
6'10-1/2"
7L7L
2-ID3
DW VNN N i i N i i
= <
o

2x4 SPF #2 11'9-1/2" Bottom Plates: 2x4 SPF #2 11' 9-1/2"

Top Plates:
Studs: (8) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
3'7-1/2"

2-1D3 (6' 9") 1-1/2"



Panel #96 Length: 10" 3-1/2" Height: 9' 1-1/8" First Stud Face @4' 10-3/4" (1' 4" o.c.) Diagonal: 13' 7-13/16"

I 10' 3-1/2" I
I P
ﬁiﬁg [
10"
6' 10-1/2"
D (%0
o)
pir)
%0 |00
3'0"
X
6'10-1/2"
7
2-ID3 38 2X6 L
W VNPM X i i i ‘VYN
Ky Ayd y
] DO -
o o
™ ; =

Top Plates: 2x4 SPF #2 10' 3-1/2" Bottom Plates: 2x4 SPF #2 10' 3-1/2"
Studs: (4) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2-ID3 (6' 9") 3/4" 3' 6-3/4"
3S 37" 3'11-1/2"

2X6 L (2x6 Dn) 9' 8-1/2" @ End



Panel #97 Length: 12' 8" Height: 9' 1-1/8" First Stud Face @4' 7-1/4" (1' 4" o.c.) Diagonal: 15' 6-1/4"

| 12'8'
F
vHI/4 1'|2-3/4"
(2) 2x12 (2) 2x12
6' 10-1/2" 6'10-1/2"
D (%
9|5
pnir)
% |0
28" 28"
X X
6'10-1/2" 6'10-1/2"
M/M 2-ID1* WN M 2X6 L 38 M WM 2-ID1* WN M
I T I [
o ¥ XXX [l o
el T T by \n
o o~ O (oo} —
o T©®© % N
[Te] —

Top Plates: 2x4 SPF #2 12'8" Bottom Plates: 2x4 SPF #2 12'8"
Studs: (3) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2-ID1* (6" 10-1/2") @ Start 3'5"

2X6 L (2x6 Dn) 5' 3-1/4" 5'10-1/4"
3S 6' 1-3/4" 6'6-1/4"

2-1ID1* (6' 10-1/2") 8' 8-1/2" 12" 1-1/2"



Panel #98 Length: 14' 9" Height: 9' 1-1/8" First Stud Face @1' 4-1/4" (1' 4" o.c.) Diagonal: 17' 3-1/8"

| 14' Q"
F
.
e
%
2 5
= |0
30 |
ﬁLﬁL
2X6 L 3S 3S
K X i X ‘%NH ‘M il i i X i
T ¥¥E EE
- =& - - ™
h A- O N O
[re) ;ioio ~ o~

Bottom Plates: 2x4 SPF #2 14' 9"

Top Plates: 2x4 SPF #2 14'9"
Studs: (11) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 5' 3-1/4" 5'10-1/4"
3S 6' 1-3/4" 6'6-1/4"
7' 2-1/4" 7' 6-3/4"

3S



Panel #99 Length: 6' 1" Height: 9' 1-1/8" First Stud Face @8-1/4" (1' 4" o.c.)

Diagonal: 10' 10-1/16"

8'11-5/8
8'8-5/8"

2X6 L 2X6 L
‘N X X ‘RN
Top Plates: 2x4 SPF #2 6' 1" Bottom Plates: 2x4 SPF #2 6' 1"
Studs: (4) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"

2X6 L (2x6 Dn) 5'6" @ End



Panel #100 Length: 2'6" Height: 9' 1-1/8" First Stud Face @1' 1-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/4"

8'11-5/8
8' 8-5/8"

W I W

Top Plates: 2x4 SPF #2 2'6" Bottom Plates: 2x4 SPF #2 2'6"
Studs: (3) 2x4 SPF #2 8' 8-5/8"




Panel #101 Length: 2' 6" Height: 9' 1-1/8" First Stud Face @1' 1-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/4"

8' 11-5/8"
8'8-5/8

i W i

Top Plates: 2x4 SPF #2 2'6" Bottom Plates: 2x4 SPF #2 2'6"
Studs: (3) 2x4 SPF #2 8' 8-5/8"




Panel #102 Length: 11'6" Height: 9' 1-1/8"

First Stud Face @9-1/4" (1'4" o.c.)

Diagonal: 14' 7"

8' 11-5/8"
8'8-5/8"

2X6 L

5'4-3/4"—
77314

|
3
iy
>
o

8'2-3/4"—

Top Plates: 2x4 SPF #2 11'6" Bottom Plates: 2x4 SPF #2 11'6"
Studs: (10) 2x4 SPF #2 8'8-5/8"

Components & Subcomponents Start End

3S 5' 0-1/4" 5' 4-3/4"

2X6 L (2x6 Dn) 7' 7-3/4" 8' 2-3/4"




Panel #103 Length: 14' 8" Height: 9' 1-1/8" First Stud Face @5' 3-1/4" (1' 4" o.c.) Diagonal: 17' 2-5/16"

. 148
[
7
(2) 2x12
70"
2 %
05
= |0
%0 |
30"
X
70"
2X6L 2-C.01 i 35 i i i 35 i i 3s 7
'\ '\ | | _\ '\ _\ _\
¥ X oz o ¥ ¥
i M i D
[T = S N -~ LI
= T o H 2 N W

2x4 SPF #2 14'8" Bottom Plates: 2x4 SPF #2 14'8"

Top Plates:

Studs: (8) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) 5-1/4" 1'0-1/4"
2-C.O01 (7' Q") 1' 0-1/4" 4'9-1/4"
3S 4'10" 5'2-1/2"
3S 8' 11-1/4" 9' 3-3/4"

3S 12" 1-1/4" 12' 5-3/4"



Panel #104 Length: 4'6" Height: 9' 1-1/8" First Stud Face @5-1/4" (1' 4" o.c.) Diagonal: 10' 0-7/16"

8'11-5/8
8'8-5/8"

KN A i i i
Top Plates: 2x4 SPF #2 4'6" Bottom Plates: 2x4 SPF #2 4'6"
Studs: (5) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

3S 11" 1'5-1/2"



Panel #105 Length: 7' 9-1/2" Height: 9' 1-1/8"

Diagonal: 11' 10-9/16"

JF 7'9-1/2"
ﬁLﬁL
vy
6 10-1/2"
® ko
Lo
— |©
% |
5o
X
6'10-1/2"
LﬁL
-
2-ID5
e i
i i
Q@ @
o [5e]
- ©

2x4 SPF #2 7'9-1/2" Bottom Plates: 2x4 SPF #2 7' 9-1/2"

Top Plates:
Studs: (2) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
6' 8-3/4"

2-1D5 (6'9") 1' 0-3/4"




Panel #106 Length: 2'5" Height: 9' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 9' 3-7/16"

2'5"

8'11-5/8
8'8-5/8"

2X4 L

R =l
I
Top Plates: 2x4 SPF #2 2'5" Bottom Plates: 2x4 SPF #2 2'5"
Studs: (2) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End

2X4 L (2x4 Dn) 2'0" @ End



Panel #107 Length: 6'5" Height: 9' 1-1/8" First Stud Face @3' 11-1/4" (1' 4" o.c.) Diagonal: 11' 0-5/16"

L 6'5" |
1 1
OH{5/1
6'10-1/2"
2'8"
X
6'10-1/2"
2-1D1
[l P<N !\N‘ i i i
o o
D B
o ~
Top Plates: 2x4 SPF #2 6'5" Bottom Plates: 2x4 SPF #2 6'5"
Studs: (4) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2-1D1 (6'9") 5-5/16" 3' 7-5/16"



Panel #108 Length: 17' 9" Height: 9' 1-1/8" First Stud Face @4-1/4" (1' 4" o.c.) Diagonal: 19' 10-5/8"

| 17'9"
r
18"
(2) 2x12
6' 10-1/2"
% 5
w5
— |©
30 |
32
X
6'10-1/2"
2X4 L 2-1D4 38
WK i =0 T i i i i X

7' 11-1/4"—
8'3-3/4"—

2x4 SPF #2 17'9" Bottom Plates: 2x4 SPF #2 17' 9"

Top Plates:
Studs: (11) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2X4 L (2x4 Up) 3'7-1/4" 4' 0-1/4"
2-1D4 (6' 10-1/2") 4' 0-1/4" 7' 11-1/4"
7' 11-1/4" 8' 3-3/4"

3S



Panel #110 Length: 6'2" Height: 9' 1-1/8" First Stud Face @9-1/4" (1' 4" o.c.) Diagonal: 10" 10-5/8"

6' 10-1/2"

8'11-5/8
8'8-5/8"

2'8"
X
6'10-1/2"
2-ID1
. W VNN N
= =
Top Plates: 2x4 SPF #2 6'2" Bottom Plates: 2x4 SPF #2 6'2"
Studs: (4) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2-1D1 (6'9") 16" 4'8"



Panel #111 Length: 6'2" Height: 9' 1-1/8" First Stud Face @9-1/4" (1' 4" o.c.) Diagonal: 10" 10-5/8"

6' 10-1/2"

8'11-5/8
8'8-5/8"

2'8"
X
6'10-1/2"
2-ID1
K N W VNN i
= =
Top Plates: 2x4 SPF #2 6'2" Bottom Plates: 2x4 SPF #2 6'2"
Studs: (4) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2-1D1 (6'9") 16" 4'8"



Panel #112 Length: 6'5" Height: 9' 1-1/8" Diagonal: 11' 0-5/16"

J 6'5
r
174"
6' 10-1/2"
4'8"
X
6'10-1/2"
28 2-1D6
iR .
¥ ;0
Top Plates: 2x4 SPF #2 6'5" Bottom Plates: 2x4 SPF #2 6'5"
Studs: 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End
2S @ Start 3"

2-1D6 (6' 9") 4 5'6"




Panel #113 Length: 4' 1-1/2"

Top Plates: 2x4 SPF #2 2' 11-3/4"
2x4 SPF #2 1'4-13/16"

Height: 9' 1-1/8"

N

4'1-1/2" I

-30.3/ Rk /30.3

[ M
AIRE TN 2'11-3/4" |
ﬁg
7 ,53\6\'\
)\‘
4Fyj]
6'10-1/2" 6' 10-1/2"
©
8
o
16" 16"
X X
6'10-1/2" 6' 10-1/2"
— [
2-ID7 2-ID7
— W
5 i
T
N

Bottom Plates: 2x4 SPF #2 4' 1-1/2"

Components & Subcomponents Start End
2-ID7 (6' 9") @ Start 19"
2'4-1/2" @ End

2-ID7 (6' 9")



Panel #114 Length: 14' 8" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 2-5/16"

. 14' 8"
P
1'0-1/4"
6' 10-1/2"
© %
)
— |0
o) 0
30
X
6'10-1/2"
I LT | ] L Jim [ - AN
] o ] | |
¥ Y Qo =l - o
- D - © MRS - <
o« — 0~ = -
TN ; >

2x6 SPF #2 14'8" Bottom Plates: 2x6 SPF #2 14'8"

Top Plates:
Studs: (10) 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
3S 1'10-1/4" 2' 2-3/4"
3S 5" 11-1/2" 6'4"
3S 8" 10" 9'2-1/2"
10" 11" 14' 5"

2-ID3 (6'9")



Panel #115 Length: 3' 9-1/2"

Height: 9' 1-1/8" First Stud Face @1' 0-3/4" (1' 4" o.c.) Diagonal: 9' 8-7/8"

J 3'9-1/2" J
[ M
-t
RS
w5
— |©
o) 5]
7477
[}/ T
| 1o
Q S
o N
< [fo=)
&
o™~

2x6 SPF #2 3'9-1/2" Bottom Plates: 2x6 SPF #2 3'9-1/2"

Top Plates:
Studs: (2) 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End
3S @ Start 4-1/2"
2' 5-3/4" 2'10-1/4"

3S



Panel #116 Length: 1'5" Height: 9' 1-1/8" Diagonal: 9' 0-15/16"

15"

8'11-5/8
8' 8-5/8"

i
|
Top Plates: 2x6 SPF #2 1'5" Bottom Plates: 2x6 SPF #2 1'5"
Studs: 2x6 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2X6 L (2x6 Dn) 10" @ End



Panel #117 Length: 1' 6-1/2" Height: 9' 1-1/8" First Stud Face @1-3/4" (1' 4" o.c.) Diagonal: 9' 1-3/16"

L 1'6-172" |

8' 11-5/8"
8'8-5/8

m

Top Plates: 2x6 SPF #2 1'6-1/2" Bottom Plates: 2x6 SPF #2 1'6-1/2"
Studs: (3) 2x6 SPF #2 8' 8-5/8"



Panel #EX118 Length: 6' 8" Height: 1' 6-1/2" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 6' 9-13/16"

6 8"

1'5

12
v}
b

2'8" 4'0"

Top Plates: 2x6 SPF #2 6'8" Bottom Plates: 2x6 SPF #2 6'8"
Studs: (6) 2x6 SPF #2 1'2"
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush



Panel #119 Length: 6" Height: 1' 6-1/2" Diagonal: 1' 6"

75

T2

Top Plates: 2x6 SPF #2 6" Bottom Plates: 2x6 SPF #2 6"
Studs: (2) 2x6 SPF #2 1'2"




